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(i) To have access to the Question Booklet, tear off the
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booklet.
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and (4). You have to darken the circle as indicated below on
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using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
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Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1.  ‘Honesty is the best policy’. This statement will be assented to by :

(1) Idealism (2) Naturalism (3) Pragmatism (4) Realism

2. The school should focus on “the teaching of contents drawn from pure sciences” would be an
imperative of which school of philosophy ?

(1) Idealism (2) Naturalism (3) Realism (4) Existentialism
3. A line of Indian film song runs like this : “You are in me and I am in you”. This can be
interpreted to accord with the views of which philosophy ?
(1) Vedanta (2) Sankhya (3) Jainism (4) Yoga
4. A school got grade “A” in a ranking. Four teachers reacted differently as under. Which one
of the observations shall be in conformity with the epistemology of Jainism ?
(1) This was all a design of God.
(2) This was the natural consequence of our environmental awareness.
(3)  This incident is an expression of fulfilment within me and you.
(4) There can be many causes for this. I cannot be sure.

5.  Which one of the following combinations represent Tagore’s vision of education ?
(a) Education is means of attaining self sufficiency and confidence by man

(b) Education can be attained through the study and practice of arts, literature, drama
and music

(c) Nature is a creation of God

(d) The nature of man all over the globe is one only

Code :

(1) (a), (b) and (©) (2) () (0 and (d)

(3) (@), (b)and d 4 (@), O), (© and (d)

(d)
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6.  The school level education enforces the policy of free and compulsory education for girls and
socially disadvantaged section of society. This represents the drive for :

(1) Promoting talents (2) Equity and equality
(3) Ensuring security (4) Addressing diverse needs
7.  In ensuring quality education to women and rural sections of the population, which of the

following will be considered most effective in the Indian context ?
(1) Enforcing uniform curriculum in the school.

(2) Adopting multiple strategies to address the diverse needs of this group.
(3) Appointing teachers of the same cadre and class as of educants.
(4)

4)  Observing strict rules for participation in school programmes.

8.  Free uniform and book - aids to disadvantaged segments of society is a move towards
providing :
(1) Relief to the society in general
(2) Incentives to children for compulsory attendance
(3)  Check on drop outs from school
(4)

Handicaps to compensate economic deprivation

9. In effecting social change in Indian context through the instrumentality of education, the
biggest hurdles are factors related to :
(1) Ethnicity (2) Religion
(3) Regionalism (4) Diversities of various types

10. The study of role conflict, collaboration and competition in class room will belong to the
concerns of :

(1) Professional and moral ethics (2) Peace education

(3)  Sociology of education (4) Educational psychology

11. ‘Formal operational stage’ of cognitive development in Piaget’s view will correspond to which
stage of education in India ?

(1) Primary education (2) Elementary education
(3) Secondary education (4) Higher education
s T ;
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12. Assertion (A) : Adolescence is a period of storm and stress
Reason (R) : There is intensity in the expression of emotions coupled with absence of
consistency
Choose the correct alternative to indicate your answer.
(1) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3)  (A) is correct but (R) is false.
(4) (A) is false but (R) is true.
13.  Which of the following is a subordinate law in Thorndike’s system of learning ?
(I) Response by Analogy (2) Law of Exercise
(3) Law of Readiness (4) Law of Effect
14. Which of the following is designated as an independent variable in classical conditioning ?
(1) Choice of unconditioned and conditioned stimulus(US and CS)
(2) Strength of conditioned response (CR)
(3)  Number of pairings as CS and US (conditioned and unconditioned stimulus)
(4) Amplitude or latency of response
15. A trainer so designs the training procedure that in the presence of cue, negative reinforcement
is made contingent on making of a response by the trainee. The operant conditioning procedure
so used is called by the name of :
(1) Escape training
(2) Punishment training
(3) Discriminated punishment training
(4) Active - avoidance training
16. What is the ‘gestalt word’ for transfer of learning ?
(1) Stimulus discrimination (2) Transposition of understanding
Stimulus generalization (4) Response generalization
w7 \II\II“IN AHBERCA D ;
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17. In Hull's system of learning which one of the following was postulated as an important
intervening variable ?
(1) Drive condition
(2) Intensity of stimulus
(3)  Excitatory reaction potential
(4)

Number of non - reinforced responses for extinction

18. Assertion (A) : Motivation is a necessary factor in learning but in itself it is not sufficient
for learning to occur.

Reason (R) : Performance on a task depends on one’s ability and motivation.
Select the correct alternative from the following to indicate your answer.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) (A) is false but (R) is true.

19. From the list given below identify those which constitute teaching techniques to enhance
motivation and learning.

Choose from the code to indicate your answer.
a) Distribution of practice and rest in learning
b) Teacher’s interaction style

(
(
(c) Providing immediate or delayed feed back
(d) Students reaction to success and failure

(

e) Whole and part learning

Code
(1) (a), (b) and (e) (2) (a), (b) and (c)
(3)  (b), (c) and (d) (4) (a), (d) and (e)

20. In Gagne’s learning hierarchy which of the following is the highest type of learning ?

(1) Creative learning (2) Problem solving learning
Concept learning (4) Chain learning
ST : paper
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21. Who among the following cognitive learning promoters developed the concept of meaningful
learning ?

(1) Jean Piaget (2) David Ausubel

(3) Jerome S. Bruner (4) Ference Merton

22.  While introducing revision in his system of learning, Tolman referred to which of the
following ?

(1) Place learning

(2) Learning of reward expectancy

(3) Latent learning

(4) Drive discrimination learning

23. Inthe following list some general conclusions based on intelligence testing have been indicated.
select those which relate to academic intelligence testing : For your answer choose from the
following code.

(a) The optimum point in one’s mental development is reached during adulthood.

(b) As one advances in age, intelligence also advances.

(c) In terms of functions the rate of mental development changes.

(d) Empathy forms an important component of intelligence.

(e)  On the basis of intelligence we are able to address problems of meaning and value.

(f) By placement of an individual in socially and culturally advanced environment, the
intelligence quotient can increase but not his/her classification on the basis of intellectual
capacity.

Code :

(1) (a), (b) and () (2) () () and (d)

(3) (@) (d) and (e) (4) (@), () and (f

24. Below are given two sets : Set - I provides the list of various types of intelligence while
Set - II indicates the kind of thinking associated with these types. Match the two sets and for
your answer and select the proper code.
Set - 1 Set - II
(Types of Intelligence) (Thinking involved in intelligence)

(a) Cognitive Intelligence (IQ) (i)  Unitive Thinking

(b) Emotional Intelligence (EQ) (i) Serial Thinking

(c) Spiritual Intelligence (SQ) (iii) Associative Thinking

(d) Cultural Intelligence (CQ) (iv) Symbolic Thinking

(v) Trans - Situational Thinking

Code :

@ () (9 (9

O 6 @ G @)

@ @ @ O

@) G @) @ o

@) @ @ @) )
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25. Who among the following was the first to use the word ‘mental measurement’ ?
(1) Terman (2) Binet (3) Thurstone (4) Galton
26. Below are given a few strategies for making guidance and counselling programme effective
in the Indian context. Choose the most appropriate strategies for disadvantaged section of
society.
(a) Making follow-up an integral part of guidance and counselling programme
(b) Orientation of teachers in guidance and counselling
(c) Providing need based counselling opportunities
(d) Conducting training programme of teachers for learning techniques of guidance
() Changing the mind set of parents
(f)  Linking guidance activities with curriculum
Code :
1) (b), @), () (d) RNCAUACAC
(3) @ () (e) () @) (d) (b), (e) ()
27. Below are given a few items needed as a support to guidance personnels. Which of them is
scarce in Indian context ? Select your answers from the code :
(a) Availability of lists and inventories
(b) Physical facilities and infra - structural support
() Academic resources available in schools and colleges
(d) Courses in guidance and career counselling
(e)  Professional training facilities
(f) Components of guidance and counselling courses in teacher education programme
Code :
1) (), (©), () (2) (@) (b), (d), (¢)
3)  © (D, () O @) (d) (e) () O
s T 3
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28. A high school student soon after passing the examination intends to choose subjects for
future professional placement. Which of the following will be useful in this regard ?
(1) Career counselling (2) Educational guidance
(3)  Vocational guidance (4) Personal guidance
29. To bring about the attitudinal changes in the students, which of the following guidance
techniques will be helpful ?
(1) Group guidance (2) Directive counselling
(3) Non - directive counselling (4) Individual guidance
30. For making guidance and counselling an effective pragramme in indian context, which of
the following is the major constraint ?
(1)  Scarcity of funds
(2) Educational policy
(3) Mind set of functionaries at various levels of education
(4) Apathy of parents
31. Match the type of research given in List - I with the description provided in List - II and
select appropriate code :
List - I List - II
(Type of research) (Description)
(a) Naturalistic inquiry (i) analytical description of social group related to the
shared beliefs, practices and behaviours
(b) Phenomenological research (ii) sophisticated analysis which links participant
perception
(c) Ethnographic research (iii) designed to aid and assess the merit and worth of a
specific practice in terms of the values
(d) Grounded theory research (iv) analysis of qualitative data to provide an
understanding of a concept from the participant’s
perspective
(v) prefer inductive reasoning from grass roots
observation and discovery with an emergent design
Code
@@ (b) () (d)
1) @ @ (v (@
2 @ @ @O ()
G @ @) v @
@ v (@) @O @
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28. Ueh Be&hal foeneff oTol odier U g o i< 9verd 319 Hfosy § Sqadntiaes rde & forg fawi
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2) Wfees Hifa
(3) T o fafis wll o€ stfenfdal 1 At
(4) AfYuTEER] T IS
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(d) SR fagia we My (iv) Ffaurf &t gfic | fordl sTaumRon &1 99sH H "eaR
T[T STTHR |ERft 1 fowermon
(v) TR Bl o STNTHATCH &9 H YT YeTuil T ekt
TR A
<< :
@@ (b) (9 (d)
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32.

“”

is a non interactive strategy for obtaining data and at the same time may require
imaginative field work to locate relevant data”. Which data collection technique is referred
here ?

(1) Field notes (2) Artifact collection

(3)  Archival records (4) Informal interview

33. In a study conducted on two matched groups, the researcher attempts to find out the effect
of teacher controlled and learner controlled instruction on the achievement of rural and
urban students of higher secondary level, what is the independent variable in this study ?
(1) Achievement of students
(2) Teacher - controlled Vs. learner controlled instruction
(3) Rural and Urban area
(4) Higher secondary level of education

34. Further, supposing the researcher computes a value of ‘t’ for testing the significance of the
difference between mean achievement of the two groups and finds that it is statistically
significant. What decision would be warranted on the basis of this evidence ?

(1) The researcher retains The Null hypothesis and the research hypothesis as well
(2)  The researcher rejects The Null hypothesis and retains the research hypothesis
(3)  The researcher rejects both the research hypothesis as well as The Null hypothesis
(4) The researcher accepts The Null hypothesis with no decision on the research hypothesis
35. A distinctive feature insisted in experimental design in research is :
(1) Cause and effect relationship
(2) Control of intervening variables
(3) Complex statistical treatment of data
(4) Manipulation of independent variable
36. Which of the following cannot have a negative value ?
(1) Product moment correlation (2) Partial correlation
(3) Multiple correlation (4) Rank difference correlation
s T 1




32 X

33.

34.

35.

36.

e Ut gfaa ® forod erafopan fafea 721 2t € qen 9% vew & deharrned wged Bt §
1 & THH ShedA Sefka &t e of wmifed Bt ¥ 17 S9H S O yed Heherw i fafy Hefia
g?

(1) Thice ARd (2) fafHa Heed
(3) HURE SfyerE (4) SHTEIRE HETEHR

< gAfed wrEl W forn T st | shenef S et W % wEr SR IRl S St Syt
) Torerer fifsa i stfermmenat fefsa fHESM S YTe Sl I o 6l 93T9 hidl @1 39 31899 |
A S E ?

(1) BE 6t 3ucAfsd

) T frifaa sam sifermerat feifa frdem
(3) IO SR wRd &

(4)

2

T31eT =1 SR Ut WX

IE T gY o et <1 wegl st froafadi § oTwaR skt wefehan Tieror g ‘' o I T STRTUM il
T 1 98 UT ¢ o o8 A1 Wil gite § Wiefeh © 1 39 Wied o STYR W fohd Tg w1 Fof o s
sTaferd § 7

(1) SNETl I TREATTAT Tl THHR HIAT © Y & W i IReBea T ol o |

(2) N Y IREHTI T TRER I © T 2 i REHEIT ol THRR H & |
(3) irerh Sirelt SRt afehou qe I URehea T ST b1 IRER T B

(4) irEedl I IR 1 TR AN § a1 WY IRehed 1 W H1E i 72 o 71

2

4

TR Wiy | aifed fafiree o e
(1) SR&H-I9E T (2) HeEEdt =] Hl =
(3) USdl 1 Sfedt Hiemshd gfaared (4) A o H - A

=1 o 9 forge 9F Horerss 98 8 Wehar ?

(1) YSR-HHE Heawre (2) ¥ TRy

(3) T HeEE (4) SHHIF- FeHw

st (1T 1



37. If 50 scores are arranged in ascending order of magnitude, the value of median would be :
(1) 25t score from the bottom (2) Mean of 25" and 26" scores
(3) The sum of 25" and 26t scores  (4)  25th score from the top
38. The essential element that differentiates between “probability” and ‘non - probability” sampling
technique is :
(1) Size of the sample (2) Randomness in the selection of units
(3) Nature of the population sampled (4) Representativeness of the sample
39. If we define x=X—M where M is the mean of a distribution and X is an individual score,
which of the following is true ?
(1) =x2=0 (2) =x=0 (B) (Ex)2=0 4) 3Ix3=0
40. Assertion (A) : For controlling extraneous variables in an experimental design, random
assignment of subjects is better than matching.
Reason (R) : Matching tends to reduce the sample size.
Which of the following is the correct one ?
(1) Both (A) and (R) are correct, but (R) is not a correct explanation for (A).
(2)  (A) is correct, but (R) is not a correct explanation for (A).
(3)  (A) is correct but (R) is not correct.
(4) (A) is false but (R) is correct.
41. Which of the following combinations of goals of education are achievable through
Universalization of Elementary education ?
(a) Equality of opportunities in Education
(b) Development of an enlightened and humane society
(c) Development of scientific temper in Indian society
(d) Education as a tool of human resource development
(e) Promoting awareness in society about the limits of knowledge
Code
1) (a), (b)/ (C) and (d) (2)  (a) () and (d)
3) d) and (e 4) (a), (b) and (d)
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42. Identify the specific interventions introduced for Universalization of elementary education.
To answer, choose correct option from the code given below :

a) Mid day meal

b) Distribution of free books and uniforms

(
(
(c) Distribution of free laptops
(d) Sarva Shiksha Abhiyan

(

e) Kasturba Gandhi Balika Vidyalaya

Code :
(1) (@), (b), (c) and (d) (2) (a), (b), (c) and (e)
() (a), (b), (d) and (e) (4) (b), (), (d) and (e)

43. The purpose underlying vocational education is to focus on :

(1) Work experience as a compulsory component

(2) Training of school going students into gainful earning skills
(3) Meaningful engagement of students
(

4) Balancing load of liberal education

44. In which of the following countries the local authorities have the highest say in matters of
curriculum development ?

(1) Russia (2) UK (3) India 4) USA

45. The concept of distance education implies :
(1) Imparting education from a distance
(2) Using mass media and computer in class

(3) Imparting quality education through mitigating the negative effects of distance in
education

(4) Employing nonconventional methods of teaching learning except face to face teaching
methods
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46. Curriculum is regarded as the sum total of experiences acquired by the learner in a school.
Which combination of the following set of experiences will be deemed congruent in this
regard ?

(a) Planned and known experiences

(b) Unplanned and unknown experiences

(c) Experience gained during cocurricular activities

(d) Lived experiences which promote creative outlook
Code :

(1) (@), (b), (c) and (d) (2) (), (b) and ()
(3) (@) (c) and (d) (4) (@) and (c)

47. Which of the following models of curriculum has minimum scope for democratic decision
making ?

(1) Demonstration Model (2) Grassroot Model
(3) System Analysis Model (4) Administrative Model
48. Which of the following combinations describe the characteristics of system Analysis Model
of Curriculum ?
(a) The system has its sub systems
(b) System and its sub systems interact with each other
(c)  There is inherent coordination in its various sub systems
(d) Over a period of time the system’s output decreases
(e)  The quality of output depends on the quality of input
Code
(1) (@), (b), () and (e) (2)  (b), (0), (d) and (e)
(3) (@) (9) (d) and (e) 4) (@) (b), () and (d)
49. In formative evaluation :
(1) The examination is held after the end of academic session
(2) The learners are evaluated through both internal and external examinations
(3) The evaluation focusses on processes and as such it is conducted on a continuous basis
(4) Questions set in all examinations are framed in different forms
s S
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50. Difficulty value of a question of an achievement test is indicated usually by computing :
(1) Percentage of students who answered that question correctly
(2) Percentage of students who could not answer that question
(8) Percentage of questions answered incorrectly
(4) Percentage of ambiguous questions
51. Which of the following combinations indicates the characteristics of a bureaucratic
administration in education ?
(a) A well organised R & D system
(b) Division of labour
(c) Specialization
(d) A clear hierarchy
(e)  Shared responsibility for task performance
(f)  Set of rules or standard operating procedures
Code
(1) () (©), (d) and () (2) (@), © (d) and
() (b), (©) (d) and (e) 4) () (d), (e and (§
52.  Which one of the following is the correct sequence of various phases of system’s approach ?
(1) Analysis, Planning, Management and Monitoring and Evaluation
(2) Planning, Management, Monitoring and Evaluation and Analysis
(3) Management, Planning, Monitoring and Evaluation and Analysis
(4) Analysis, Management, Planning and Monitoring and Evaluation
53. For promoting effective leadership which of the following theories has a greater potential ?
(1) Great man theory (2) Trait theory
Transactional theory (4) Transformational theory
N7 \II\II“IH A 2
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54. Which set of the following factors should be given attention for a meaningful institutional
planning ?
(a) High delinquency rates in the country
(b)  Frequent natural hazards in the adjoining localities
(c) Needs and aspirations of school teachers
(d) Number of unemployed trained graduates in the vicinity
() Educational practices prevalent in the top educational institutions of the country
Code
(1) (b), (c) and (e) (2)  (b), () and (d)
(3) (@), (b) (c) and (d) 4) (@) (b), (c) and (e)
55. What is the purpose of educational supervision ?
(1) To set norms, procedures and practices
(2) To develop an efficient office management system
(8) To develop a positive teaching-learning ethos in the institution
(4) To ensure high pass percentage in school final examinations
56. A test conducted by a classroom teacher for the purpose of identifying the strengths and
weaknesses of students in a specified content area is technically called :
(1) Aptitude Test (2) Prognostic Test
(3) Diagnostic Test (4) Placement Test
s T 2
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57. Match the two lists given below. List - I consists of item types used for measurement and
List - IT provides their characteristics. Select the code for indicating your answer :
List - I List - II
(Item Type) (Characteristics)
(a) Short Answer items (i)  require students to demonstrate skills by actually
engaging in the task
(b) Interpretive exercises (i) measure exclusively the recall of memorized
information
(c) Performance based tests (iii) assess a large amount of related factual material in a
relatively short time
(d) Matching exercises (iv) more flexible to measure a variety of learning
outcomes
(v) provide scope to measure a large number of factual
information in a given field
Code :
@ (b) (9 (d)
@ G ) @ ()
2 @ @ @) (v
(G) @) @Gv) @O @)
@ v O @) @)
58. T - score transformation corresponding to a Z - score of —1.5 will be :
(1) 55 (2) 50 (3) 45 (4) 35
59. Match the items of List - I which indicates types of reliability with that of List - II which
mentains the method of estimation. Choose correct answer from the code :
List - I List - II
(Type of Reliability) (Method of estimation)
(a) Internal consistency (i)  Parallel form method
(b) Rational equivalance (ii) Split - half method
(c) Stability (iii) Test - retest method
Code :
@ (®) (©
O O @ ()
@ ) 6 @
@) O () @
@ @ 6 ()
s (111 T 2
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60. When grading is done on the normal curve, the proportion of high grades is balanced by an
equal proportion of low grades. The type of grading is called :
(1) Absolute grading (2) Cumulative grading
(3) Relative grading (4) Percentile grading
61. Difference between various modalities of teaching such as instruction, conditioning and
training and that of teaching depends in critical terms on which of the following ?
(1) Use of cues (2) Choice of stimuli
(8)  Use of intelligence (4) Scope of feed back
62. From the list of statements given below identify those which most appropriately explain the
purpose and effects of educational technology (ET). Choose your answer from the code
given :
(a) ET is a supplement rather than a substitute of teacher
(b) ET is used with the intent of making instructions attractive
(c) The purpose of ET is to optimise learning outcomes
(d) Multi - media approach in ET ensures catering to diversity of learner characteristics
(e)  Use of ET at preactive and post active stages is a kind of superimposition
(f)  ET should lay more emphasis on software rather than hardware
Code
(1) (a) (b) and () (2)  (b), () and (e)
(3) (@) (¢) and (d) 4) () (¢) and (f)
63. Educational communication has the limitation of :
(1) Social marketing (2) Extended interactivity
Cost - effectiveness (4) Attention span of receivers
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64. Below are given two sets, set - I which provides various types of programmed instruction
and set - II which mentions their instructional feature. Match the two sets and answer by
selecting from the code :

Set -1 Set - 1I
(Programming types) (Instructional features)
(a) Linear (i)  Retrogressive chaining of information
(b) Branching (i) Software based system of instruction
(c) Mathetic (iii) Small step presentation with priming and prompting
(d) Computer Assisted (iv) Larger step size with provision of error-treatment

Learning and Teaching
(v) Relatively open question - answer session

Code :

65. Inmodifying teaching behaviour which of the following focuses on teacher - learner exchanges
leading to influence patterns ?

(1) Micro teaching
(2) Simulated teaching
(8) Ned Flanders” procedure of systematic observation

Concept attainment model of teaching
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64. = T W KU T ¥ - e - 1 ¥ e yer & sfussiia eeem feu g € ik @ - 11 5
SRR fardioard € &1 A A B gAfer Y St FE [ T I H T Y

qT-1 [ - 11
( fueRfd YK ) ( TRV fagreaT )
(a) &= (i) GO R I JEAETE
(b) TTETE (i) IR UM TaeH Jumedt
(c) sj@fed (iii) TR T TR STEIE & TN oY WM FEfeh o
(d) HPIX HeEw Afe™ (iv) Ffe THIYUM % Y F&d I HHR
R foraro
(v)  STUEITRd Gl JeH-3 |
Fe
@ () (9 (@
1) (i) @v) @) (i)
2 @ @ @G @)
3 (@) @) (@) )
@4 @ @v) @) @)

65. e =reRr #1 uftghd w H frfafad § @ wF-a1 e faene sem-gem ot a1 §
et aitorfa gume ggfodl & gt €2

(1)
(2)
(3)

(4)

oo [T

& e
FTIwdr e

TS TAUST hi HafEd Yayur fafy

318791 1 Hehod T G Jiad=

[N =




66. Govt. of India has enacted four special statutes for people with disabilities during different
years. Match the List - A, which indicates the year of enactment, with that of List - B which
indicates the statutes/provisions :

List - A List - B
(Year of enactment) (Caption of the statutes/ provisions)
(a) 1987 (i)  Persons with disabilities Act (PWD Act)
(b) 1992 (i) The Mental Health Act
() 1995 (i) Rehabilitation Council of India Act
(d) 1999 (iv) National Trust for welfare of persons with Autism, Cerebral
palsy, Mental Retardation and Multiple Disabilities Act
(v) National Association for the Blind Act
Code :
@ () (9 (9
1) @ @) @ @)
() @v) @) @) @
() @ @ @ @)
4 O @) @) (@)
67. A person is considered/classified as legally blind if his visual acuity is measured :
(1) 20/70 (2) 20/200 (3) 20/40 (4) 20/30
68. Epilepsy is a kind of :
(1) Muscular disorder (2) Communication disorder
(3) Neurological Impairement (4) Psychiatric disorder
69. Muscular dystrophy (MD) is a :
(1) Neural tube defect
(2) Neuromuscular disease and involves weakening of muscles
(3)  An acquired injury to brain caused by external physical force
(4) Abnormal discharge of electrical impulses in the brain
s T "




66.

67.

68.

69.

URd TR 7 fafie onf & Re .9 afoadl & fau = fouw wfafai sifufrafaa = )

et - A § feu T stfufreme o o o6 it - B § <1 18 wiafei/ syl % "o gafed wifs
el - A el - B

( rfafram= = ad ) (wifafer/Susien = =W )

(a) 1987 () vk s stfufm (desy €l tR)
(b) 1992 (i) AR Toreeg Afufd
(c) 1995 (ili) WX gAetE 9Rug stfyfram
d) 1999 (iv) TCHal, YHRSR STTE, WHfae Hed R Sg-.vear 9 difed
AT 7 TS = ATTTIH (AT T R TARI 3Th T
TR)
v) U Ay ¥u srfufrm
<
@ (b) (9 (d)
1) @) G @ Gv)
2)  @v) () @) (@)
@) @) @ @@ ()
4 @@ (@) @v) (i)

et =afaa 1 denfer ®9 @ gfed™ qa T/ afieha foman STaT § ST S9eht =ne]y T o

(1) 20/70 (2) 20/200 (3) 20/40 4) 20/30
fawit T yhR H gl

(1) wiguRia fomr (2) THEET foeR

(3) EAfdeh affauEd (4) HAOT S foer

TEper S (TAEL) © ¢

(1) Rt Afeeh <

(2) <Rt I fed AEaferEl o1 wHeiR S e §
(3) Torsht o Wi 3tred o osie ¥ AfEdsh | e

(4) TR ¥ o STa &l STaE= Yae

st (1T -



70. Which of the following statements is not true in the context of Gifted Children ?
(1) Analytical understanding (2) Synthetic insights

(3) Creative reproduction (4) Practical Application Skills

71. Which of the following steps have been taken by NCTE for the systematic improvement in
teacher education ?

(a) Rationalization in the demand and supply situation in the country.
(b) Curriculum of teacher education at various levels has been updated.
(c) Enhancement of academic support in the form of various resources.
(d) Periodic monitoring of teacher education.

() Emphasis on reflective practices.

Code :
1) (@), (b), (d), (e) (2)  (b), (o), (e) ()
@) (d), (), (), (b) 4) (9, (d), (b), (e

72. Practicum in teacher education courses should be implemented with the focus on :
(1) Theory courses (2) Social problems

(3) Value orientation (4) Professional competencies

73. Internship forms an integral part of B.Ed curriculum because it provides :
(1) Enhancing administrative exposure
(2) Total participation in school based activities
(8) Opportunities for intensive practice of teaching activities

(4) Opportunities to get first hand knowledge of school programmes

s [T
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70.

71.

72.

73.

frafafea o 9 -1 gfaymeet s=i & el § 9 78 © ?
(1) foectoomeTs wag 2) dftee sHagfe
(3) oS AU (4) TeIdRT S AERIRS STTTAM

s1eATaeh freT o e UR ¥g T stearass e uftog gr 7 # 9 &9 § ohicH 3o/ MU ?
<o Hi we smyfid et feerfa 1 siifae T

fafime ol ™ 31eager et & qreushy hl STedH fwan T g1

(

(

(c) fafvm dameEi o €9 4 STRciHe He=d o1 HaeH |
(d) s1eaTaek fran w6t ety R |

(

e) Ed gl W aa |

e :
(1) (), (b), (d), (e) ) (®) (c) (o), (a)
(3)  (d), (e), (), (b) 4)  (c), (d), (b), (e)

31eATa fren ureshy | WAk fshanfafa frefafed W SR <0 gy wmEifed ot S =feT
1) Hsifaw areERe (2) HrHIfSTR FHET

(3) HH SHEIR (4) ofer TerHd

Ffem T, Trewat w1 T e fewm € wiifen aw Heen S R
(1) IRE{h g g

2) Tha i wfafaft § Fo i

(3)  TRreTor hEiehReITdl & e S1ATH o ST

(4) TR FEHH 1 HH I AHA FEH AT ST

st (1T .



74.

75.

There are a number of arguments advanced in favour of enhancing the duration of B.Ed
programme from one year to two year. Identify those which are favourable to this :

(a) Longer duration of Teacher Education Programme provides scope for holistic approach
to acquiring teacher behaviour

(b) Enhanced duration expands the scope of interactive experiences at various levels of
programme : Theoretical and Practical

(c) Those who are non - serious are screened out

(d) It provides opportunities for integration of theoretical knowledge with practical
situations in the domains of teaching and learning

(e) It helps in increasing revenue to teacher education institutions

(f) It offers ample opportunities for experiential learning based exposure

Code :
1) () (©), (e) (a) (2)  (a), (b), (d), ()
3)  (0), (e), (), (b) 4)  (a), (b), (c), (e)

An effective programme of teacher education aims at developing teacher proficiency and
competence that will consequently empower the teacher with which of the following ?

Skill in designing the teaching learning situations
( Eagerness for upgradation of knowledge

(c) Ability to minimise the wastage of resources

(d) Understanding of interpersonal relations in a class
(

e) Competencies in making quality decisions about managing, monitoring and evaluating
learning behaviours

Code
1) (), (9), (@), (d) (2 (0), (d), (b), (a)
@) (a), (b), (d), (e) 4 (d), () (0 (a)

-00o0-
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74. 1.US. UISTHA i AAY Teh I8 T TG o I8 A & foId 3k @eh fou T &1 37 qehf o faf=a
F A TS IIHAE ¢
(a) 3TeATIR To1em HEIRA 1 STUARA SIfe sTafy g1 ¥ femn =er AfSa w1 § 9y
gfteehIvT ¥ T[S Bt

(b) =S g Ay § HiRT & fafvm @l (Fsifaw iR SmERie) W SRimaeTs TIva I
T I STAE T Bl 8 |

(c) = TN ot Bt B St & S TR T B 2 |

(d) =99 foerr SR At & & # e uRiefhE % e S5ifae I & T 6 TR
EUSEACES

(e) 3UY 31eATT foren Heensti 1 o dgH § e foerd ¥ |

(f) THH STgvE-enuiRa siferm afifeufadl & fou qara steer faa s 2

<

1) . (©) (e), , (b), (d),
3) (@) (e) (), (b) ) (@) () () (¢

75. Trefafed § 9 SH-91 3299, Teh TeA19eh 18T o GUTaeiel hidshd gRI UHT JTord qef &T9d bl
fasfaa HEm S SALAIE i TR TSH hY 2

(a) Toreror srfermm Rfeefae =i erfyshfedd =t st gam
b

T o oA ohi STl

GEEAT o 37954 hl hH LA i AR

HE H Sidqoataden el 1 Taery

STFRTH SHeRRI ! SATeed, HAHd T HYodiiohd i Gatl 0N U1l hl o i &l

~

d

~

(
(c
(
(

e

~—"

.-—\?(8\1
.

1)
(3)

st (1T 5



Space For Rough Work
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